

**Tender** for the Supply of **"Medicines"** for Pondicherry University Health Centre, Kalapet, Puducherry.

01) Tenders are invited in Sealed cover from original manufacturers/authorized dealers/distributors of original manufacturers for <u>supplying medicines as per</u> the details enclosed Schedule for the Pondicherry University Health Centre. The tender details, terms and conditions, time schedule may also be downloaded from the linked website: <u>www.pondiuni.edu.in</u>

02) Tenders will be opened by the Tender Committee on the scheduled date and time, in the Office of the Purchase & Stores Section, Pondicherry University, Puducherry – 605 014.

03) The Tender Committee is competent to accept a tender in whole or part and also have the right to reject any / all the tenders without assigning any reason thereon.

04) Every Tenderer must go through the terms and conditions carefully and understand them before submitting their tender. No excuse that the conditions have not been read or understood will be entertained later.

05) The Schedule of medicines attached gives only estimated requirements. Notwithstanding the estimate or probable quantity or number indenting officers of this University have the right to order any quantity or any number of the items mentioned in the schedule from time to time or not to order any quantity or any number of any such article at all during the period of contract.

06) Original Manufacturer of drugs, having valid license under Drugs Act shall only quote their rates. Authorised Dealer as approved and appointed by the Manufacturer may also <u>quote</u>. The Authorised Dealer shall enclose with the Tender, a copy of the letter of appointment as Authorised Dealer issued by the concerned manufacturer only.

07) The Tenderer may directly or through their authorized dealer / distributor supply the drugs and medicines and other items listed in the tender, manufactured by them and the bills settled accordingly. The nomination / authorization should be received along with the tender. Only one agent / Distributor / Dealer shall be nominated. Proper address, Phone Numbers, Fax Numbers, e-mail Ids and contact details of the firm / person as well as the local dealer / distributor should be clearly mentioned and any change of the above details may be notified.

08) The Tenderers are requested to retain a copy of the Tender Schedule indicating the rates offered by them for various items in the Schedule.

09) Rate quoted should be clearly quoted in total, inclusive of taxes (VAT / CST, Excise Duty and Delivery Charges etc.,) and other charges. No Form – C or Form – D will be issued. Wordings such as "Taxes as applicable" should be avoided.

10) The rates quoted should be only in Indian Currency.

11) The firm should quote only for the unit asked for by the University and not their own unit at any cost. The schedule enclosed with the Tender Schedule should be used.

12) The tenderer should produce a Certificate from the Drugs Controller of the State concerned stating that the Drugs for which he is offering tender are manufactured under a valid license issued under the Drugs and Cosmetics Act. The firm should furnish an attested photocopy of the current Drug Manufacturing License under the Drugs Act along with the list of Drugs authorised to manufacture. <u>The item quoted should be highlighted in the manufacturing list.</u> **Tenders should have GMP Certificate as per WHO guidelines and Schedule – M should be enclosed with the Tender.** 

13) The brochures, leaflets of products, if any, available may also be produced.

14) a) Earnest Money Deposit (EMD) at the rate of Rs.15,000/- (Rupees fifteen thousand only) should be deposited by all the participants. Otherwise, the tender will be rejected by the Tender Committee without notice. Bank Guarantee will not be accepted for EMD. The amount should be paid by means of Demand Draft from any nationalized Bank **payable to** The "Finance Officer, Pondicherry University" payable at Puducherry.

#### Fixed / Term Deposits will not be accepted for EMD.

b) The Earnest Money will be returned to unsuccessful tenderer but retained in the case of successful tenderer.

15) Copy of Income Tax Clearance Certificate for the last five years i.e., from 2008 – 2009 to 2012 – 2013 should be enclosed to the tender, failing which the tender will be rejected. If the tenderer is not an Income Tax assessee, **a non-assessee certificate** issued by the Income Tax Authority should be enclosed. **Permanent Account Number (PAN)** of the Income Tax should be furnished.

16) No interest will be allowed on EMD which will be refunded on the satisfactory completion of the contract. If the contractor fails to supply any one of the articles within the delivery period prescribed or comply with all or any of the terms and conditions of the agreement, it shall be lawful for the University authority to purchase elsewhere and from person or persons other than the contractor such quantities of articles or materials as shall not have been supplied and delivered by the contractor and to collect from him the difference of cost between the price of articles purchased from the open market and the price or prices payable under the contract for such articles.

17) The tenderer is at liberty to quote one or more or all the items. The rates of the items will be considered separately and individually.

18) No insurance charges are payable. The supply should be made at the supplier's own risk. Damages and breakages, if any found in transit, will not be accepted, the articles thereof should be replaced; otherwise the cost will be deducted from the bill.

## 19) The rates quoted should be valid for acceptance for a period of 180 days from the date of opening of the tenders and once accepted should be firm and unaltered during the contract period.

20) No firm shall be allowed at any time and on any ground whatsoever, any claim for revision or modification of the rates quoted by them during the currency of the contract period. Clerical error, typographical error etc. committed by the tenderers in the tender form shall not ordinarily be considered after the opening of the tenders. Conditions such as SINGLE QUOTATION SUBJECT TO AVAILABILITY OF STORES, "SUPPLIES WILL BE MADE AS AND WHEN SUPPLIES ARE RECEIVED, ETC " will not be considered under any circumstances and the tenders of those who have given such conditions shall be summarily rejected without any further correspondence. However, change in the Excise Duty will be considered if supported by authenticated proof.

21) Rates should be quoted separately for each item, according to the Unit asked together with composition, strength presentation and related pamphlets. Tender not stipulating period of delivery and the tender with price variation clause / subject to prior sale conditions are liable to be rejected. Rate quoted should be **on door delivery basis and should be FOR destination** without SPECIFYING ANY VALUE AND SHOULD COVER EXCISE DUTY, ALL INCIDENTAL CHARGES, PACKING, FORWARDING AND INSURANCE ETC.

22) Supply should be made within 7 days from the date of receipt of supply order.

23) The tenderer will invariably inscribe in each supply **"For Pondicherry University Supply". The date of manufacturing, date of expiry and the Batch No. shall clearly be inscribed.** 

### 24) In the event of such Drug not being utilized within the life period, the firm should undertake to replace the stock at no extra cost.

25) The tenderer should clearly mention the names of the drugs offered by them in the tender. The composition of the formulations wherever possible shall be furnished. The tenderer should specify the patent name, the name of the manufacturer and the product offered by him.

26) Selection of tenders would very much depend upon the efficacy/quality of the products offered.

27) Free sample of each of the items tendered may be sent to the Pondicherry University. Each sample being carefully labelled with the name of the manufacturer and item number. Full particulars of the Make, Brand Name, and Specification etc., should be noted in the tender. Samples supplied by the tenderer will be retained by the Pondicherry University. **EMD / Tender Fee should not be enclosed along-**

# with the sample. Request for return of the sample items will not be entertained on any ground. The tender document and sample should be sent in separate covers. <u>In case samples are not provided, the tender will not be considered.</u>

28) The contractor shall be bound to deliver all the articles in such quantities or numbers and within the time during the contract period. All articles shall be subject to inspection and acceptance or rejection by the Tender Committee or by procuring officer. Supply orders are to be issued to the successful tenders in a phased manner, based on the exigencies.

29) Packing of tablets should not exceed 100 Nos. It should be in multiples of 10 tablets or maximum of 100 tablets i.e. 10x10 tablets or 10x100 tablets and in strip packing. In respect of LAB items wherever **KIT** is mentioned actual **ML** should be quoted. All containers i.e., bottles, ampoules, strips, vials, tins, cartons, tubes, sachets etc. must be **pilfer proof and should comply with statutory regulations** to ensure total protection to the quality and quantity of the product packed. All the labels including individual labels of the unit formulations should bear the inscription - **"Supply to Pondicherry University – Not for Sale."** Loose packing will not be accepted.

30) Each packing shall conform to the labeling provisions of the Drugs and Cosmetics Act 1940 and Rules there under. Any misbranded drug is not only liable to be confiscated without notice but also the supplier will be penalized by recovery of the difference in the amount in obtaining from another firm not withstanding any penal action that may be taken by the Drugs Control Department.

(a) I.V. Fluids should be manufactured under FFS Technology using Medical Grade Plastic bottles, which should confirm with international / national standards.

31) All articles supplied by the contractor which in the opinion of the Tender Committee / Indenting Officer, are found faulty or unfit for use shall be rejected. The opinion of Tender Committee / Indenting Officer thereon in all respects will be final and conclusive and also together operative and binding on the contractor and shall not be open or subject to question or dispute by the contractor on any ground whatsoever.

32) All articles or materials supplied in lieu of or in substitution of rejected articles shall in like manner be subject to inspection or rejection and removal as often as the Tender Committee / Indenting Officer shall consider necessary.

33) No article bearing logo-gram of any other state / U.T. other than that of the manufacturer will be accepted.

34) Each supply and batch should be accompanied with a photocopy of quality certificate from Government approved Drugs Testing Laboratory.

35) The loss to Pondicherry University, if any, incurred on account of purchase elsewhere rendered necessary by failure or neglect or refusal on the part of the contractor to supply according to the terms of the agreement will be recovered from him. If any articles or things supplied by the contractor have been partially or wholly used or consumed in the Pondicherry University Health Centre and they are subsequently found to be in bad order, unsound, un-

merchantable, inferior in quality or description or are not in accordance with the samples or otherwise faulty or unfit for or unwholesome then the contract price or prices of such articles or things will be recovered from the contractor, if payment had already been made to him. Otherwise, the contractor will not be entitled to any payment whatsoever for such articles. For infringement of the stipulations of the contractor or for other justifiable reasons, the contract may be terminated by the Registrar and the contractor shall be liable for all losses sustained by the University in consequence of the termination which may be recovered from the Security deposited by the contractor or other money due or to become due to him. In the event of such amount being found insufficient, the balance may be recovered personally from the contractor or from his property as permissible under the law.

36) The tenderer should be prepared to accept orders subject to the penalty clause for forfeiture of the E arnest Money deposit in the event the default or failure to supply within the stipulated period.

37) Any attempt on the part of the tenderer or their agent to influence the University will disqualify the tender.

38) The tenderer will invariably furnish the following Certificates with the bills for payment;

(a) Certified that the goods on which sales tax have been exempted from the Central Sales Tax Act and or the rules made there under and that the amount of charges on account of sales tax on those goods are covered under the provisions of the relevant Act, or the Rules made there-under.

(b) Certified that the firm is registered under Central Registration: ......

39) Tender should be submitted only for Medicines asked for. Substitute / equivalent should not be offered. In case the Drugs, Chemicals etc., asked for are not available, the tenderer should notify against these items as "Not Quoting".

40) The Price quoted by the tenderer shall not in any case, exceed the control price, if any fixed by Central / State Government and **should be inclusive of all taxes**. If the price quoted exceeds the control price the contractor should specifically mention this fact in his tender along with reasons for quoting such higher price. The purchaser at his discretion will in such case exercise the right of revising the price at any stage, so as to conform with the controlled price. This discretion will be exercised without prejudice to any other action that may be taken against the tenderer. If at any time during the period of contract, the price of the tendered item is reduced or brought down by any Law of Act of the Central / State Government, the tenderer shall be normally and statutorily bound to inform the Tender Committee immediately of such reduction in the contracted price. The Tender Committee is suo moto empowered to effect such reduction as is necessary in the contracted rate or in case the tenderer fails to notify or fails to agree for such reduction of rates.

41) In case of any difference or dispute arising in connection with the contract, all legal proceedings relating to the matter shall be instituted only in a court within the jurisdiction of the Union Territory of Puducherry and nowhere else.

42) The contract should not be sublet.

43) All Drugs, Chemicals should conform to the standard required under Rule 124 of the Drugs Act, 1946.

44) In case of drugs with life period, stock should be supplied to the institution from the latest batch and such stock should have a minimum life period of 18 months.

45) The tender should accompany the questionnaire with undertaking enclosed duly filled and signed. Failure to do so, will lead to non-consideration of the tender.

46) Tender should be in English and submitted in one single cover superscribing **"Tender for Medicines** for Health Centre, Pondicherry University, and reach the Asst. Registrar (Purchase), Pondicherry University, Puducherry 605014, on or <u>before</u> <u>20-05-2014at3.00 p.m.</u> The tenders will be opened on the same day at 3.30 p.m.

#### 47. ImportantNote:

- a) The following Demand Drafts and Documents are Essential Requirements:
  - i) Tender Fee of Rs.525/-(Rs. 500 Plus VAT at 5%), drawn in favour of the Finance Officer, Pondicherry University, payable at Puducherry.
  - ii) EMD of Rs. 15,000/- drawn in favour of the Finance Officer, Pondicherry University, Payable at Puducherry.

#### iii) Write Company's / Firm's name behind each DD.

- b) The following Documents are required to be submitted along with the DDs:
  - i) Form A duly filled in and signed.
  - ii) Copy of Drug Manufacture / Import / Sales Licenses etc.
  - iii) Copy of Sales Tax Registration and PAN
- c) The rate should be quoted in INR inclusive of all taxes and other charges
- d) Check list of documents submitted.

Registrar Pondicherry University

#### CHECK LIST FOR THE ITEMS TO BE ENCLOSED WITH THE TENDER

#### a) Duly attested photo copy of latest Manufacturing License under the Drugs Act along with the list of Drugs authorised to manufacture. If Dealer, enclose Drug License issued by competent authority.

- **b)** Duly attested photo copy of manufacturing licence issued by the competent authority in respect of items other than Drugs and Medicines.
- c) EMD by means of Demand Draft / Bankers Cheque for the items quoted. Fixed / Term Deposits will not be accepted for EMD.
- d) If registered with DGS&D, the approved rate contract with list and price to be enclosed.
- e) Income Tax certificate for the last five years ie. from 2008 2009 to 2012-2013 / Non-Assessee Certificate.
- **f)** Duly attested photocopy of Import Licence / Licence for re-packing.
- **g)** Questionnaire (Form A) duly filled in and signed by the tenderer.
- h) Copy of Sales Tax Registration and PAN
- i) GMP Certificate as per WHO guidelines with Schedule M.
- **j)** Brochure leaflets of products.

#### FORM-"A"

#### QUESTIONNAIRE

(To be submitted duly filled in and signed along with Bid)

\*\*\*

:

1

1

:

- 1. Name and Address of the Tenderer / Firm :
- a. Name & Address of the Manufacturer (in case the Tenderer is the Manufacturer)
  - b. If the Tenderer is not the Manufacturer, whether he is the authorised dealer/authorised stockist (If answer to (b) is YES. Copy of letter of authorisation/ dealership to be enclosed)
- 3. Whether copy of the Manufacturing/Dealer : licence issued by the Competent Authority is enclosed along with the list of items.
- 4. If the Tenderer is the Direct Importer, copy of the Import Licence with List of items imported to be enclosed
- 5. Please detail quality control facility available with the firm
- 6. Whether registered with DGS&D ? : (Enlistment Certificate to be enclosed) with copy of the rate contract
- 7. a) Whether EMD is enclosed ? :
  b) Whether the Demand Draft towards :
  tender fee is enclosed?
  c) If so, details
- 8. Are you in the Approved List of Suppliers to the other Government organisations? If so, give details (Copies of the letters received from those Departments, in which your name has been included)
- 9. Any other documents to confirm reliability of the tenderer firm
- 10. PAN number of Income Tax

I / we, the

do hereby declare that I / We have carefully, read all the conditions of the Tender Schedule of Pondicherry University, Puducherry for the Tender floated for the supply of **"Medicines"** and agreed to abide by the terms and conditions prescribed in the tender schedule.

:

:

SIGNATURE: SEAL OF THE FIRM:

#### **TENDER SCHEDULE**

SI. NO.	Description of items	Specify the patent name, name of the manufacturer, product offered, composition of formulation	Unit Quantity	No. of units	Total Quantity	Cost w.r.to col.6 (inclusive of all taxes)
1	2	3	4	5	6	7
1	Tab. Bendex 400 mg (Cipla)		1	2500	2500	
2	Cap. Alpha D3 (GSK)		10	995	9950	
3	Tab. Amaryl 1 mg (Aventis)		10	2615	26150	
4	Tab. Amaryl 2 mg (Aventis)		10	2410	24100	
5	Tab. Amlopres 2.5 mg (Cipla)		15	335	5025	
6	Tab. Amlopres 5 mg(Cipla)		15	1050	15750	
7	Cap. Ampilox(Biochem)		10	1680	16800	
8	Tab. Asthalin 2 mg (Cipla)		30	140	4200	
9	Tab. Asthalin 4 mg (Cipla)		10	50	500	
10	Asthalin Inhaler (Cipla)		1	225	225	
11	Tab. Aten D ( Zydus Medica )		10	590	5900	
12	Tab. Atocor 10 mg (Dr. Reddy's)		10	2000	20000	
13	Tab. Atorlip 5 mg (Cipla)		10	810	8100	
14	Tab. Atorlip F (Cipla)		10	500	5000	
15	Tab. Avil 25 mg (Sanofi)		15	100	1500	
16	Tab. Betacard 25 mg (Torrent)		14	325	4550	
17	Cap. Bioclox 250 mg (Biochem)		10	100	1000	
18	Tab. Bromhexine (IPCA)		10	1500	15000	
19	Tab. Brufen 200 mg(Abott)		15	210	3150	
20	Tab. Cyclopam (Indico Rem)		10	50	500	

SI. NO.	Description of items	Specify the patent name, name of the manufacturer, product offered, composition of formulation	Unit Quantity	No. of units	Total Quantity	Cost w.r.to col.6 (inclusive of all taxes)
1	2	3	4	5	6	7
21	Cap. Calcigard 5 mg (Torrent)		10	50	500	
22	Tab. Calpol 500 mg (GSK)		15	800	12000	
23	Tab. Calpol 650 mg (GSK)		15	900	13500	
24	Calpol Suspension (GSK)		60 ml bottle	170	170	
25	Tab. Cardace 2.5 mg (Aventis)		15	170	2550	
26	Tab. Cardace H 2.5 (Aventis)		15	250	3750	
27	Tab. Cardace H 5(Aventis)		15	440	6600	
28	Tab. Cetapin XR 500mg (Aventis)		10	1280	12800	
29	Tab. Cetzine (GSK)		10	900	9000	
30	Tab. Ciplox 250 mg(Cipla)		10	20	200	
31	Tab. Ciplox 500 mg(Cipla)		10	490	4900	
32	Liq. Citralka (Pfizer)		100 ml	50	50	
33	Tab. Combiflam(Aventis)		15	700	10500	
34	Tab. Concor 5 mg(Merck)		10	45	450	
35	Susp. Bactrim (Abbott)		50 ml	30	30	
36	Tab. Daonil 5 mg (Aventis)		10	225	2250	
37	Tab. Deriphylline (Z.H.C.)		10	180	1800	
38	Tab. Deriphylline R 150 (Z.H.C.)		10	120	1200	
39	Tab. Deriphylline R 300(Z.H.C.)		10	50	500	
40	Tab. Diclomol (Win-Medicare)		10	150	1500	
41	Cap. Doxy -1 LDR Forte (Astra Life)		10	600	6000	
42	Tab. Ecosprin 75 mg (USV)		14	550	7700	

SI. NO.	Description of items	Specify the patent name, name of the manufacturer, product offered, composition of formulation	Unit Quantity	No. of units	Total Quantity	Cost w.r.to col.6 (inclusive of all taxes)
1	2	3	4	5	6	7
43	Electrobion Powder( Merck)		4.2 g	550	550	
44	Tab. Envas 2.5 mg (Cadila)		15	300	4500	
45	Tab. Envas 5 mg (Cadila)		15	220	3300	
46	Tab. Erythrocin 250 mg(Pfizer)		10	150	1500	
47	Tab. Erythrocin 500 mg(Pfizer)		10	200	2000	
48	Cap. Evion 400 mg ( Merck)		10	500	5000	
49	Tab. Fasigyn 500 mg(Pfizer)		4	300	1200	
50	Cap. Fefol Z (GSK)		15	400	6000	
51	Tab. Flagyl 200 mg (Abbott)		15	30	450	
52	Tab. Flagyl 400 mg(Abbott)		15	255	3825	
53	Tab. Nuforce 150 mg (Mankind)		1	700	700	
54	Tab. Folvite 5 mg (Wyeth)		10	60	600	
55	Tab. Gelusil MPS (Pfizer)		10	670	6700	
56	Tab. Glycomet 500 mg (USV)		10	10000	100000	
57	Tab. Glynase 5 mg (USV)		10	565	5650	
58	Cap. Haemup (Cadila)		30	500	15000	
59	Tab. Hetrazan 100 mg (Wyeth)		10	225	2250	
60	Tab. Hydrazide 12.5 mg (Cipla)		10	990	9900	
61	Cap. Imodium (J&J)		4	80	320	
62	Tab. Librax (Abbott)		10	250	2500	
63	Tab. Limcee 500 mg (Abbott)		15	600	9000	
64	Tab. Lipicard 160 mg (USV)		10	225	2250	

SI. NO.	Description of items	Specify the patent name, name of the manufacturer, product offered, composition of formulation	Unit Quantity	No. of units	Total Quantity	Cost w.r.to col.6 (inclusive of all taxes)
1	2	3	4	5	6	7
65	Tab. Lodoz 2.5 (Merck)		10	45	450	
66	Tab. Metaspan (Ajantha)		10	1080	10800	
67	Tab. Neurobion forte ( Merck)		10	4085	40850	
68	Tab. Nicardia R 10 mg (Unique)		10	300	3000	
69	Tab. Norflox 400 mg( Cipla)		10	100	1000	
70	Tab. Novomox 125 mg ( Cipla)		15	100	1500	
71	Cap. Novomox 250mg (Cipla)		15	80	1200	
72	Cap. Novomox 500 mg ( Cipla)		10	1000	10000	
73	Cap. Omez 10 mg (Dr. Reddy's)		10	630	6300	
74	Tab. Ostocalcium Forte (GSK)		15	240	3600	
75	Tab. Pentids 400mg (Abbott)		6	500	3000	
76	Tab. Perinorm (IPCA)		10	205	2050	
77	Tab. Phexin 125 mg (GSK)		10	80	800	
78	Cap. Phexin 250 mg(GSK)		10	100	1000	
79	Cap. Phexin 500mg(GSK)		10	400	4000	
80	Cap. Cobadex forte (GSK)		15	300	4500	
81	Cap. Polybion (Merck)		15	500	7500	
82	Tab. Ranitin 150 mg (Torrent)		30	700	21000	
83	Tab. Restyl 0.25 mg (Cipla)		15	200	3000	
84	Tab. Riboflavin (Shreya)		10	500	5000	
85	Tab. Crestor 5 mg (AstraZeneca)		10	660	6600	
86	Tab. Seloken XL 25 mg (AstraZeneca)		15	150	2250	

SI. NO.	Description of items	Specify the patent name, name of the manufacturer, product offered, composition of formulation	Unit Quantity	No. of units	Total Quantity	Cost w.r.to col.6 (inclusive of all taxes)
1	2	3	4	5	6	7
87	Tab. Seloken XL 50 mg (AstraZeneca)		15	120	1800	
88	Tab. Shelcal 500mg (Elder)		15	300	4500	
89	Tab. Solvin Decongestant (IPCA)		15	100	1500	
90	Tab.Sorbitrate 5 mg (Abbott)		50	105	5250	
91	Flagyl Suspension (Abbott)		60 ml	40	40	
92	Tab. Theoasthalin (Cipla)		30	60	1800	
93	Tab. Topcid 20mg (Torrent)		14	750	10500	
94	Tab. Topcid 40 mg (Torrent)		14	1725	24150	
95	Tab. Trika 0.5 mg (Unichem)		15	600	9000	
96	Cap. TriOmega CD (Sanofi)		30	30	900	
97	Tusq D Lozenges (Blue Cross)		6	2500	15000	
98	Liq. Urilizer (walter)		200 ml	90	90	
99	Tab. Voveran 50 mg ( Novartis)		15	320	4800	
100	Tab. Voveran SR( Novartis)		15	25	375	
101	Tab. Novomox 250mg (Cipla)		15	75	1125	
102	Inj. Adrenaline (H. Pharm)		1 amp	6	6	
103	Inj. Avil (Aventis)		1 amp	150	150	
104	Inj. Betnesol (Glaxo)		1 amp	30	30	
105	Inj. Calmpose (Ranbaxy)		1 amp	30	30	
106	Inj. Cyclopam (Indico Remedies)		1 amp	250	250	
107	Inj. Decdan (Wockhardt)		1 vial	80	80	
108	Inj. Deriphyllin (Zydus H.C.)		1 amp	120	120	

SI. NO.	Description of items	Specify the patent name, name of the manufacturer, product offered, composition of formulation	Unit Quantity	No. of units	Total Quantity	Cost w.r.to col.6 (inclusive of all taxes)
1	2	3	4	5	6	7
109	Inj. Genticyn 80 mg (Nicholas)		1amp	750	750	
110	Inj. Lasix (Aventis)		1 amp	20	20	
111	Inj. Diclotal ( Blue Cross)		1 amp	350	350	
112	Inj. Neurobion ( Merck)		1 amp	150	150	
113	Inj.Fevastin( Tab of India)		1 amp	150	150	
114	INj. Perinorm (IPCA)		1 amp	120	120	
115	Inj. Phenergan(Abbott)		1 amp	20	20	
116	Inj. Polybion (Merck)		1 amp	100	100	
117	Inj. Ranitidine (Torrent)		1 amp	150	150	
118	Inj. Streptochrome (Dolphine)		1 amp	30	30	
119	Inj. Tetanus toxiod (SII)		1 amp	500	500	
120	Water for Injection(Tab of India)		1 vial	30	30	
121	Inj. Xylocaine (Astra IDL)		1 vial	3	3	
122	I.V. 5% Dextrose(Baxter)		1 pint	5	5	
123	I.V. Normal Saline(Baxter)		1pint	15	15	
124	I.V. Dextrose Normal Saline (Baxter)		1pint	20	20	
125	I.V. Flagyl (Unique)		1 bottle	10	10	
126	I.V.Set (Baxter)		1 No.	40	40	
127	Genticyn Eye Drops (Nicholas)		1 vial	150	150	
128	Nasivion Drops(Cipla)		1 vial	60	60	
129	Ciplox E/E Drops (Cipla)		1 vial	200	200	
130	Chloro Aplicaps(Pfizer)		1 bottle	9	9	

SI. NO.	Description of items	Specify the patent name, name of the manufacturer, product offered, composition of formulation	Unit Quantity	No. of units	Total Quantity	Cost w.r.to col.6 (inclusive of all taxes)
1	2	3	4	5	6	7
131	Wokadine Ointment 125 gm(Wockhardt)		125 g	20	20	
132	Wokadine Ointment 15 g (Wockhardt)		15 g	80	80	
133	Soframycin Ointment (Aventis)		30 g	150	150	
134	Silverex Cream (Ranbaxy)		20 g	80	80	
135	Neosporin E/S Ointment (GSK)		5 g	400	400	
136	Neosporin Skin Ointment (GSK)		20 g	60	60	
137	Daktarin gel 20 gm (J&J)		20 g	350	350	
138	Neosporin Powder(GSK)		10 g	20	20	
139	Candid B Cream 20 g (Glenmark)		20 g	175	175	
140	Whitfield Ointment (PRS)		450 g	4	4	
141	Glucon D 200 g (Glaxo)		200g	15	15	
142	Dispovan 2 ml (Glaxo)		1	1800	1800	
143	Dispovan 3 ml (Glaxo)		1	300	300	
144	Dispovan 5 ml (Glaxo)		1	100	100	
145	Dettol (Rec & Col)		500 ml	8	8	
146	Savlon Liquid Antiseptic(J&J)		1 L	2	2	
147	Wokadine solution (Wockhardt)		1 bottle	8	8	
148	Hydrogen Peroxide (PRS)		1	4	4	
149	Tr. Benzoin (PRS)		1 bottle	4	4	
150	Icthammol Glycerin (K.Pharm)		450 g	15	15	
151	Liquid Paraffin(PRS)		1 bottle	3	3	
152	Glycerin (PRS)		450 g	4	4	

SI. NO.	Description of items	Specify the patent name, name of the manufacturer, product offered, composition of formulation	Unit Quantity	No. of units	Total Quantity	Cost w.r.to col.6 (inclusive of all taxes)
1	2	3	4	5	6	7
153	Leuko Plast 10mX7.5cm( 3X1X2)		1 packet	10	10	
154	Band Aid(J&J)		1 NO.	100	100	
155	Johnson Buds(J&J)		1 pkt	8	8	
156	Cotton 400g (Pankajavalle)		1	20	20	
157	Gauze 90cm X10m (Pankajavalle)		1	30	30	
158	Bandage 10 cm (Pankajevalle)		1 pkt	70	70pkt	
159	Bandage 7.5 cm(Pankajevalle)		1 pkt	70	70pkt	
160	Bandage 5 cm(Pankajevalle)		1 pkt	70	70pkt	
161	Surgical Gloves 7.5 cm(Kanam.L)		1	12	12	
162	Surgical Gloves 6.5 cm(Kanam.L)		1	36	36	
163	Asthalin Respirator Solution (Cipla)			15	15	
164	Surgical Blade No. 10(KEHR)		1 dozen	1	1dozen	
165	Surgical Blade No. 11(KEHR)		1dozen	1	1 dozen	
166	Suture Material 2.0 Silks(Suture India)		1roll	2roll	2roll	
167	Suture Material 4.0 Silk(S. India)		1roll	4roll	4roll	
168	Catgut Atrumatic (Non Adsorbable) (J&J		1 No.	6	6	
169	Suture Needle Non Cutting (Small) (Sabri Needle Industry)		1 pkt	2	2 pkts	
170	Suture Needle Cutting (half Cirlce) No. 12(S.N.I.)		1 pkt	1	1 pkt	
171	Suture Needle Cutting (half Cirlce) No.13(S.N.I.)		1 pkt	1	1 pkt	
172	Suture Needle Cutting (half Cirlce) No.14(S.N.I.)		1 pkt	1	1 pkt	
173	Suture Needle Cutting (half Cirlce) No.16(S.N.I.)		1 pkt	1	1 pkt	
174	Tab. Formalin(Gripro)		1bottle	1	1bottle	

SI. NO.	Description of items	Specify the patent name, name of the manufacturer, product offered, composition of formulation	Unit Quantity	No. of units	Total Quantity	Cost w.r.to col.6 (inclusive of all taxes)
1	2	3	4	5	6	7
175	Micropore Plaster(Romson)		1 roll	5	5roll	
176	Atrumatic Silk (Suture India)		1	4	4	
177	Disposable Examination Gloves (medium)(Pioneer)		1 pkt	8	8 pkt	
178	Suture Material Chromic 2- 0(j&j)		1 No.	6	6	
179	Dispovan 10 ml (Glaxo)		1 No.	100	100	
180	IV Butterfly set(Glaxo)		1 No	20	20	
181	Xylocaine Spray(Astra IDL)		1 No.	1	1	
182	Tab. Semidaonil 2.5 mg (Aventis)		10	40	400	